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mRE | EmETH BT T4 ho)| GEED | s | i | aemwp | e | (e | oem) | demm) | m) | ek RE BAEE
&5l BEX HEER4TH 0.30 40 0 0 0 0 0 0 0 40 0[3&7 BF149%E6 A9H
EI] BEiX FNEATH 0.80 65 0 0 0 0 0 0 0 65 o3&k BF04956 A9H
EI BffiX SIRITH 0.20 40 0 0 0 0 0 0 0 40 0[3&7 BF149%E6 A9H
il BfhX FF/NEIT Bith 1.50 90 0 2 0 0 0 0 0 92 0i&K FRF149%6 98
ES BfiX HaA2T Bith 2.00 550 0 0 0 0 0 0 0 550 037 FBF14956 H9H
Er %l X INE1ITH 0.30 29 0 0 0 0 0 0 0 29 0|k FRF149%6 98
#E)l BEX EYTITH 0.40 44 0 0 0 0 0 0 0 44 037 BF149F6 A9
=) X FH2TH 0.60 54 0 0 0 0 0 0 0 54 0K FRF14956 98
2l BEX BIEX R 0.00 3 0 0 0 0 0 0 0 3 0[3& ) 04956 H9H
#Ea) BfhX BE3TH 1.00 30 0 0 0 0 0 0 0 30 0i K FRF14956 98
Rl BHX EY2T B 1.00 58 0 0 0 0 0 0 0 58 0[3&7 BF149%E6 A9H
= BfhX IFEATH 0.20 11 0 0 0 0 0 0 0 11 0i K FRF14956 98
AN BEX HEERSTH 0.50 14 29 0 0 0 0 0 0 14 29| A7 B#050%E7 A48
CIEII BEX 2E5TH 0.30 6 7 0 0 0 0 0 0 6 7|AK FE#05047H4H
AN BEX $EN4TH 0.30 0 0 4 6 0 0 0 0 4 637 05047 48
)il BEX JKTTIRAT 0.10 1 1 0 0 0 0 0 0 1 1Ak FBF0505F7 A48
& BEX HIEITH 0.20 6 9 0 0 0 0 0 0 6 9| A B#050%E7 4R
)il X IHE8TH 0.50 0 0 14 14 0 0 0 0 14 145K FBF05058 220
IR BEX HEERSTH 0.30 12 21 0 0 0 0 0 0 12 21|17 BF150%E 10858
IR BfhX £HI2TH 0.20 7 8 0 0 0 0 0 0 7 8|k FBF0505F 10858
ZEAl BHX Y5 T B 0.50 10 10 0 0 0 0 0 0 10 10{ 1] BF150%E 10858
= BfhX HREUINT B 0.00 0 0 0 0 0 0 0 0 0 10K FAF150% 10858
IR BEX HEERSTH 0.50 9 18 0 0 0 0 0 0 9 18] BF150%E 11568
)l BfhX £R14TH 0.30 8 8 0 0 0 0 0 0 8 8| Ak FRF150%11H6H
)l BfiX #HTEs5T B 0.40 12 12 8 8 0 0 0 0 20 20327 #1505 11H6H
)l BfhX =5TH 0.70 15 17 0 0 0 0 0 0 15 17K FRF150%11A6H
EI BEX BAA4TH 0.20 8 8 0 0 0 0 0 0 8 8| A BFI50%FE 11568
il X FaF/NEITH 0.30 11 11 0 0 0 0 0 0 11 11[AK FRF150%E11H6H
15)1 BffiX /AT H 0.50 8 8 0 0 0 0 0 0 8 837 FAF0504E 11 H6H
I BfhX EUSTH. RIEYIITH 0.60 15 16 0 0 0 0 0 0 15 16| AKX FAF150%11H6H
&l BEX EERSTH 0.20 11 20 0 0 0 0 0 0 11 20[ A7 BFI51 568158
&l BEX H&E2TH 0.10 3 3 0 0 0 0 0 0 3 3[Rk FBF0515F6H158
EI BffiX £H3TH 0.10 3 3 0 0 0 0 0 0 3 3[R BFI515E6 8158
)l BfhX SE2TH 0.20 10 12 0 0 0 0 0 0 10 12| AKX FRF151%E6A 158
EI BffiX HE4T B 0.10 1 1 0 0 0 0 0 0 1 1]A7 BFI51 568158
&l BEX %EV1TH 0.10 1 1 0 0 0 0 0 0 1 1[AK FBF051 56 H158
EI BEX HEF6TH 0.10 6 6 0 0 0 0 0 0 6 6| BFI51 568158
Gl BfhX HE3TH 0.10 2 2 0 0 0 0 0 0 2 2|AK 305158108
EI BfiX SIA8TH 0.10 6 6 0 0 0 0 0 0 6 6| BFI515E8H 108
)l BfhX BIH4TH 0.10 5 5 0 0 0 0 0 0 5 5|AK FRF15148A 108
EI BEX Wi FH2-3TH 0.10 7 7 0 0 0 0 0 0 7 7|AJ] BFI512E8H 108
EI] BEiX MYARITH 0.10 1 1 0 0 0 0 0 0 1 1[AK FBF05158H10H
Gl EX FH/NE3-4T H 0.10 7 7 0 0 0 0 0 0 7 7|A] BFI512E8H 108
)l BfhX £R12TH 0.10 6 8 0 0 0 0 0 0 6 8| AKX FRF1514E8A27H
EI BEX BAA4TH 0.10 5 5 0 0 0 0 0 0 5 5| A BFI514E8H27H
)l BfhX BIAITH 0.10 7 7 0 0 0 0 0 0 7 7|AK BRFI514E8A27H
I BHX FH/NEITH 0.50 38 38 0 0 0 0 0 0 38 38| A7 BFI514E8H27H
)l BfhX HEES5TH 0.30 22 37 0 0 0 0 0 0 22 37|k FRFI515E9A9H
EI BfiX £HE3TH 0.10 2 2 0 0 0 0 0 0 2 2| A BF5149H9E
)l BfhX £R12TH 0.10 8 10 0 0 0 0 0 0 8 10K FRFI515E9A9H
EI BfiX SE4TH 0.10 2 2 0 0 0 0 0 0 2 2| A BF5149H9E
&l BEX HEITH 0.10 1 1 0 0 0 0 0 0 1 1[AK FBF0515F9 A 9R
EI BEX HEFE6TH 0.10 1 1 0 0 0 0 0 0 1 1]A7 BF1514E9A9H
&l BEX BAFA2TH 0.10 1 1 0 0 0 0 0 0 1 1[AK BA51E9A9H
EI B BNV AR2TH 0.10 5 5 0 0 0 0 0 0 5 5] A BF1514E9 A 9H
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AN | BT M (no)| g0 | e | dado | o | oRen | emso | de | emso | ks | g RE il
Gl BEiX BEF/NE2TH 0.10 1 1 0 0 0 0 0 0 1 1]A7 BF1514E9 A 9H
Gl BfhX BIRATH 0.20 14 14 0 0 0 0 0 0 14 14[ A7 FBF05258A17H
I BHX FNESTH 0.10 1 1 0 0 0 0 0 0 1 17 BF1525E8 H 178
il BfhX =M5TH 0.10 1 1 0 0 0 0 0 0 1 1[A FRF152%E9A 198
EI EX JK TRI=ET 0.10 1 1 0 0 0 0 0 0 1 17 B#54%E10878
&l X Ik TTERIZ T 0.10 1 1 0 0 0 0 0 0 1 1] #1545 10H7H
EJN BEX BAA4TH 0.10 1 1 0 0 0 0 0 0 1 1]A7 B#54%E10878
s X HEEITH 0.10 1 1 0 0 0 0 0 0 1 1[A BF154510878
R BHX EYITH 0.10 1 1 0 0 0 0 0 0 1 1]A7 B#545%E108780
il BfhX Km/hE T 0.10 1 1 0 0 0 0 0 0 1 1[A FBF0545F 108198
EI BEX HE4T B 0.10 1 1 0 0 0 0 0 0 1 1]A7 B#1545%E108 198
)l BfhX =BITH 0.10 1 1 0 0 0 0 0 0 1 1[A7 FBF154%E108 198
EI BEX %N1TH 0.10 0 0 2 2 0 0 0 0 2 2| A FB#154%E 108198
&l BfhX BEITH 0.10 0 0 2 2 0 0 0 0 2 AT FBF15445E10H 198
Gl EX AT 1.00 0 0 6 6 0 0 0 0 6 6| FB#1545%E 108198
&l BEX BFEITH 0.10 1 1 0 0 0 0 0 0 1 [EE BF05445E10H 198
I BHX FH/NEST B 0.10 2 2 0 0 0 0 0 0 2 2| A #1545 108 198
)l X =M8TH 0.10 5 5 0 0 0 0 0 0 5 5|A7] BFI56 558178
EI BEX HEF6TH 0.10 1 1 1 1 0 0 0 0 2 2| A BF156%E 71228
il BfhX FaKkTiTH A7 FBF056 5108228
hl BffiX FakTaT B A7) FAF0564E10H 228
il BfhX K1 TH A7 FBF056 5108228
hl BffiX BKT3-4TH A7) FBF1564E10H22H
&l BEX BKT4TE 27.00 726 799 76 83 0 0 0 0 802 88217 #0564 108228
hl BfiX HEE2TH A7) FAF0564E10H 228
il BfhX HER4-5T H A7 FEF056 5108228
hl BfiX HEH6~8TH A7) FAF0564E10H 228
il X 255TH A7 FEF056 5108228
hl BffiX SB1TH A7) FAF0564E10H 228
il %glz £H012:3TH A7 FBF056 5108228
Bl BEX £H14-5T H Al FBA056 108228
0 B ¥EITE 200.30 5390 5929 547 617 0 0 0 0 5937 6546 A HHIE6 510022
hl BffiX #HTE2-3TH A7) FAF0564E10H 228
il BfhX HE4-5TH A7 FEF056 5108228
hl BffiX =f2-3TH A7) FAF0564E10H 228
il BfhX =4~6TH A7 FEF056 5108228
hl BfiX =f7-8TH A7) FAF0564E10H 228
il %glz ER1-3TH A7 FBF056 5108228
Bl BfiX 2£V4-5TH Al BA056 108228
0 B X6 7TH 147.20 3960 4356 406 446 0 0 0 0 4366 4802 A HHIR6 510022
hl BffiX $#E1-2TH A7) FAF0564E10H 228
il BfhX #E3-4TH A7 FBF056 5108228
hl BfiX #MME1-3-4TH A7) FAF0564E10H 228
il BfhX BFEITH A7 FBF056 5108228
hl BfiX HEF1-6TH A7) FAF0564E10H 228
)l BfhX IFH6:8TH A FEF056 5108228
Gl Egjﬁlz %}EZ-STE A7) BF1562E 1085220
Fll B BF4-8TH A7 RBF056410822H
=0 EHix =91Th 29.80 803 883 82 90 0 0 0 0 885 973153 RHIS6E 10022
Gl BEX Hi/NE2-4-8TH RE #0564 10H 228
hl BfiX FF/NEIT B A7) FAF0564E10H 228
il BfhX F/NEATH A7 FBF056 5108228
Gl Egjﬁlz mYKRITH A7) FAF0564E10H 228
Fll B RIOYAITH A7 RBF056410822H
=0 EHx DS 450 121 133 14 14 0 0 0 0 135 147150 RHIS6E 10022
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J'E””"'L*E*’ ﬁﬁ"——‘mmﬁ - irT# Gol Gagn) | e | oo | e | Gaw | Gemmo | Gamo | eme | e | oo | RE jiﬁ
Bl BEmX 15T H P FB#156%E 108228
Fll BfhX HEEMTH A7 FRF15746 A 208
ol BffiX HEE4TH 050 8 8 0 0 0 0 0 0 8 8 A7 FAF05746 A 208
il BfhX £B11~5TH A7 FRF15746 A 208
Bl BEX HTE2-4-5T H 250 184 184 X s 0 0 0 0 187 1871 B#05746 A 208
] 2 =i1-8TH A 05746 A 20H
)] B EY4TH 120 46 46 i i 0 0 0 0 47 47|/ 15726 H 205
Fll X HF6TH A7 FRF15746 A 208
EI BEX BE3TH 0.10 1 1 0 0 0 0 0 0 1 1]A7 FB#057%6 52080
&l EX EOKRITH 0.10 3 3 0 0 0 0 0 0 3 3| A 05746 A 20H
I BHX FAF/INES- 4T H 0.40 10 10 0 0 0 0 0 0 10 10[A7] FB#0574%6 52080
i tie TLts s I L I 0 0 0 0 of e 15 L Ao
&l BEX H&Hr1-4-5-8TH 2.10 39 39 2 2 0 0 0 0 41 41[A7 BA5759A 128
EI BEX BESTH 0.60 6 6 0 0 0 0 0 0 6 6| BF57&E9H 128
Ej: 2%5 %g;f;}?ﬁa 330 197 197 1 1 0 0 0 0 198 198 2; 33 Eg;ggg}gg
il %glz 8T H 0.10 1 1 0 0 0 0 0 0 1 1 g; 1A u57§9ﬁ125
Gl S HF1-2-6TH 7] BF57E98 128
)] £oE RO A4TH 450 31 3! 0 0 0 0 0 o %t LT R15759 8126
Bl BEX &81~5-7-8TH A7 B15789A 128
Sl Bk T nE- 15.30 562 562 55 55 0 0 0 of 617 617 (232 AI5T 9 128
hl BffiX XR1-3~7TH ‘ A7) FRF15749A 128
Bl EX HE4TH A BA5759A 128
hl BfiX mOK1-4TH 1.60 102 102 1 1 0 0 0 0 103 103177 FRF15749A 128
] EX BWPOK3-4TH : A BA5759A 128
EI BEX BF2-3-9T H 3.20 135 135 3 3 0 0 0 0 138 138[ A7 BF57&E9H 128
Fll X HNEATH A7 FRF1578E9A 128
EI Eg@z mE/NE2T B 0.70 56 56 0 0 0 0 0 0 56 56 [ i3 WEQHQE
Fll B FEF/INE3-4TH A7 FBF057F9H 12H
Bl BEX B&H1-2-4-5TH 2.40 110 110 1 1 0 0 0 111 111]A7 FB#157511 5308
il BfhX SHE5TH A7 FBF0574F11 308
T %EEEE ¥ﬁﬁi2'4'5TE 2.40 197 197 6 6 0 0 0 203 203 %7 o WEHE%E
] fi X =i1~58TH 7 B#157411 8308
ol BffiX 5'_]521-5~7TE 9.60 84 84 2 2 0 0 0 0 86 86 (A7 FRF057411B30H
il BfhX $%E1-2-4TH A7 FBF0574F11 5308
EI BEX BESTH 0.40 9 9 0 0 0 0 0 0 9 9| A #1575 11 8308
&l EX EF1~3-6TH 5.20 485 485 0 0 0 0 0 0 485 485| A1 BF157411 308
EI BEX BF2-3-8TH 2.00 34 34 0 0 0 0 0 0 34 34| A7 #1575 118308
il BfhX F/NEATH A7 FBF0574F11 5308
EI Eg@z FH/INEST B 2.10 58 58 0 0 0 0 0 0 58 58 A7 i3 u57§11}ij305
il B HEH/NE4-TTH A7 FBF0574E11 5308
hl BfiX ‘yxﬁra A7) FRF1574E11 308
thl] BfK RRYAITE 080 4 4 0 0 0 0 0 0 4 MET FAA157% (1 B 30H
GIE Eg@z H&H1-5T B 1.20 19 19 0 0 0 0 0 19 19[FA1] i3 uss;sﬁma
IERII] BX EV1-6TH A7 FAFN58%6 B 108
BIE)  [B6K HEl2TH 470 0 0 2 2 0 0 0 42 421 5] 15876 7 106
e L 2 ol ma| me  o o o o o ws]  welf L
il BfhX =M1TH 1.50 50 55 19 19 0 0 0 0 69 74| "7 FAF1584E6 A 108
hl BfiX HEF1~8TH A7) BF158%E6 5100
il BfhX rﬁzE1-6~8TE A7 FAF1584E6 A 108
| B BUA4T R 9.50 297 297 6 6 0 0 0 0 303 303[A) BF058%E6 H10H
Bl EX BHE2TH A 058456 A 108
Gl BfiX BIEXEITH A7) FAF0584E6 A 108
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Bl BEmX BFE2~4-9TH P B#158%6 5108
)] BN Wm2aTH 2500 205 205 ° ° 0 0 0 o 210 21055 FA15626 5 100
Bl EX EH4T B 0.10 2 2 0 0 0 0 0 0 2 2| A IB#158%6 5108
Fll BfhX /N EI~5TH [2ES FAF1584E6 A 108
=0 EHix RN 257 TH 30.10 1560 1560 17 17 0 0 0 0 1577 15771 HH1es 6510
el %glz =23~5TH 6.60 510 513 6 6 0 0 0 0 516 519[ MK FAF1584E6 A 108
bl BEX #®8%51-3-5TH A7 #0585 6 A 108
53l B mREITH 170 3 3 ° ° 0 0 0 0 39 IRk 15876 5 100
IRl EX HKT6TH 0.10 1 2 0 0 0 0 0 0 1 2| A B#160%E6 H30H
CIEII BEX K3TH 0.10 2 2 0 0 0 0 0 0 2 2|7k FE#06046 H 30H
IRl EX REHSTH 0.10 2 2 0 0 0 0 0 0 2 2| A B#160%6 H30H
il BfhX HF6TH 0.10 2 2 0 0 0 0 0 0 2 2|AK FAF1604E6 A 30
EI BEX BFE6T H 0.10 1 1 0 0 0 0 0 0 1 17 B#160%6 H30H
BIFE] BfhX BT AK FRF1614E8 A48
AN BEX KT Al a: ne1fE8 H4H
G ggg RAX 1.80 171 181 12 13 0 0 0 of 183 104 L% o Fenen
LIFE] X £34 [2ES RBFN6148H48
AW BEX § A7 [BF61&E8 H4H
Fll BfhX &8H1TH K, RRFN6148H48
Bl BEX Eis 7K, K 06148 48
Fll BfhX R K, RRFN6148H48
Bl BEX EdS 7K, 7K 06148 48
)l = I 1.00 95 102 6 6 0 0 0 0 101 108 &K, A7 BF61%E8H4H
Bl BEX /e 7K, K 06148 48
Fll BfhX mYy R K, RRFN6148H48
hl BfiX ROYAR AIK . IK BF61E8 A48
Hl BEX it Y= @K, A7 FBF0614F8 4R
&l EX NG 0.10 1 1 0 0 0 0 0 0 1 1]A7 BF61&E9H 138
TR BfiX HEM 0.40 39 117 0 0 0 0 0 0 39 117]AK FRF1624E8 A 248
IR B REHT 0.07 6 6 0 0 0 0 0 0 6 6| M7k ERTE08H10H
E] BHX & 0.03 2 2 0 0 0 0 0 0 2 2| A Epk3&E8H23H

EXTJ/RNZ T H. RATE=0

TE.=W7TH.#23

TE.®MBE1TE. &%
KEN B Br2,4,56,7TH. /K1, 12.72 101 111 1 0 0 0 0 0 102 111"k THK3E9A18H

3,45TH.®Kit245

TH.BmKxT2TE. &

FEARET T E ="z
il B TH.IZIR4TH. EY2 0.05 2 2 5 5 0 0 0 0 7 7(AK ER5%E6A21R
TR BHX R&fl2 4,5 8TH. 043 19 28 2 2 0 0 0 0 21 30|k T4 A27H

RKT2TH
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mEE | EmETH BT ho)| GEED | s | cmEo | armwn | e | e | oemo | armw) | dmo) | e RE BAEE
BME2 3,4, 6TH. A
INE3~5TH. & H
INE1, 2, ATH.EH
NG5, 6TH.HF2,
3, 8TH.HIEXE1, 3
TH.&%F1, 2 4TH.
E=E2TH.ZAS5TH.
g%}%;}'ﬁ\?ﬁtﬂ}T
JEUISTEH. ST -
Hlil B B & F1TH 2R~ 3.72 162 163 42 53 0 0 0 0 204 216|MK Fri5F8A27H
4, 8TH.RiLA2~4
TH.EY2TH. &M
DA3TH.£Hf2 4,5
TH.%X7TH. &6
TH.#1E2 4, 5TH.
#kT2, 4, 6 TH. K
ti1, 8, 4, 5TH. @K
T4, 5TH
#KT1, 4TH. RERT
IR B 7TH.®Kx3TH. K 0.03 10 10 0 0 0 0 0 0 10 10K ER6EIA2A
Jt1TH
£W72, 3, 4, 5TH. ¥
Il B 782, 4TH.RK£H1, 0.13 51 43 7 6 0 0 0 0 58 49| Rk ER6EIA2A
2, 4TH
IR BfhX REM7TH. £R6T 0.03 2 1 0 0 0 0 0 0 2 1Ak ER8FIH22H
§<;é1TE~ﬁWL‘5TE~
#®E2TH.MMA4TH. -
&Il B HINEATE. RENE 0.09 6 5 0 0 0 0 0 0 6 5(M7k TRi8F9F 228
2TH
fEa)ll S FH2TH 0.03 2 2 0 0 0 0 0 0 2 ALY ER8EIA22R
&) BEX JEL] 0.02 1 0 2 2 0 0 0 0 3 2|AK ER1258H9H
il BffiX FaKIT6TH. £HI5T 0.05 5 5 3 0 0 0 0 0 8 5[ ER13%E687H
&Il BX BE 0.00 0 0 1 1 0 0 0 0 1 1[RK 155108130
BFEATH.£B4TH.
a1 TH. HE2TH.
il B #FESTH. H/NE4AT 0.1 7 7 4 4 0 0 0 0 11 11|AK ER16410A9R
B.®EHME2TH. K
#FNE4ATE
Fl BEHX BE+LTH 0.10 0 0 1 1 0 0 0 0 1 1A ER2659H108
&l EmX INE—TH 0.00 0 0 2 1 0 0 0 0 2 [IEER ERL2659H 108
hl BfiX HINE=TH 0.00 0 16 1 4 0 0 0 0 1 20[ A7) ER2659H108
&l B FINEZTH 0.00 0 0 1 0 0 0 0 0 1 NIEER ERL2659H 108
Gl BEX AH/NE—TH 0.00 0 0 1 0 0 0 0 0 1 0[A7 ER2659H108
il B HH/NMNEZTH 0.00 0 0 1 0 0 0 0 0 1 oK FERk26%9H 108
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